



St. Louis County, Minnesota

Date of Report: 12/14/2025 12:23:35 PM

**General Details** 

 Parcel ID:
 380-0010-01634

 Document:
 Abstract - 0478739

 Document Date:
 02/27/1989

**Legal Description Details** 

Plat Name: GRAND LAKE

SectionTownshipRangeLotBlock85116--

Description: NE1/4 of SE1/4, EXCEPT the Southerly 330 feet; AND EXCEPT the Northerly 425 feet of Easterly 600 feet

Taxpayer Details

Taxpayer Name RUSSELL EUGENE E JR & DAWN M

and Address: 5569 BERGSTROM JCT RD

SAGINAW MN 55779

**Owner Details** 

Owner Name RUSSELL DAWN

Owner Name RUSSELL EUGENE E JR

**Payable 2025 Tax Summary** 

2025 - Net Tax \$5,449.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$5,478.00

**Current Tax Due (as of 12/13/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,739.00	2025 - 2nd Half Tax	\$2,739.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$2,739.00	2025 - 2nd Half Tax Paid	\$2,739.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

**Property Address:** 5569 BERGSTROM JUNCTION RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: RUSSELL, EUGENE L & DAWN M

Assessment Details (2025 Payable 2026)								
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$121,100	\$405,700	\$526,800	\$0	\$0	-	
111	0 - Non Homestead	\$25,700	\$0	\$25,700	\$0	\$0	-	
	Total:	\$146,800	\$405,700	\$552,500	\$0	\$0	5592	





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:23:35 PM

**Land Details** 

Deeded Acres: 13.30 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

ot wiath:	0.00							
ot Depth:	0.00							
ne dimensions shown are n	ot guaranteed to be s	urvey quality.	Additional lo	t information can be	e found at			
ps://apps.stlouiscountymn	.gov/webPlatsIframe/t	rmPlatStatPop	Up.aspx. If t	here are any quest	ions, please email PropertyT	ax@stlouiscountymn.gov		
		Improve	ement 1 D	etails (HOUSE	E)			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
HOUSE	1989	960		1,920	U Quality / 0 Ft <sup>2</sup>	t <sup>2</sup> 2S - 2 STORY		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	2	24	40	960	BASEMENT WITH EXTE	ERIOR ENTRANCE		
CW	1	16	24	384	FOUNDA <sup>-</sup>	ΓΙΟΝ		
OP	1	0	0	344	PIERS AND FO	DOTINGS		
OP	1	6	40	240	PIERS AND FO	DOTINGS		
Bath Count	Bedroom Co	unt	Room (	Count	Fireplace Count	HVAC		
2.5 BATHS	4 BEDROOM	ИS	-		1 C	&AIR_COND, PROPANE		
		Improver	nent 2 De	tails (DG 30X6	60)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
GARAGE	1989	1,80	00	1,800	-	DETACHED		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	30	60	1,800	FLOATING	SLAB		
		Improver	ment 3 De	etails (ST 12X1	6)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	1991	19	2	192	-	- -		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	12	16	192	POST ON G	ROUND		
		Improver	ment / De	etails (ST 20X2	5)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	50		500	-	-		
Segment	Story	Width	Length		Foundat	ion		
BAS	1	20	25	500	POST ON GROUND			
CNX	1	8	9	72	POST ON GROUND			
		I manage and a second		talla (OEMI OV	40)			
T	Ve en Beelle	-		tails (SEMI 8X4	•	Otala Oada O Daar		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
STORAGE BUILDING	0	32		320	<u>-</u>	-		
Segment	Story	Width	Length		Foundat			
BAS	1	8	40	320	POST ON G	KOUND		





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:23:35 PM

Improvement 6 Details (SEMI 40X8)											
Improvement Type Year Built		Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Ba	Basement Finish		Style Code & Desc.				
STORAGE BUILDING 0		32	320 32		<u> </u>						
Segment Story		y Width	Length	Area	Found	ation					
BAS	1	8	40	320	POST ON (	GROUND					
	Improvement 7 Details (ST 13X20)										
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & De											
STORAGE BUILDII	NG 0	26	0	260	-		-				
Segme	ent Story	y Width	Length	Area	Foundation						
BAS	1	13	20	260	FLOATIN						
		Improv	ement 8 Details	s (PATIO)							
Improvement Typ	oe Year Built	Main Floor Ft <sup>2</sup> Gross Area		Area Ft <sup>2</sup> Ba	Ft <sup>2</sup> Basement Finish Sty		Style Code & Desc.				
	0	21	6	216	-		PLN - PLAIN SLAB				
Segme	ent Story	y Width	Length	Area	a Found		ation				
BAS	0	12	18 216		-						
		Sales Reported	to the St. Loui	s County Audite	or						
No Sales informa		•		•							
		<b>A</b> .		1							
	01	As	ssessment His	tory	D-f	D-f					
	Class Code	Land	Bldg	Total	Def Land	Def Bldg	Net Tax				
Year	(Legend)	EMV	ЕМЎ	EMV	EMV	EMŸ	Capacity				
2004 Davishla 2005	201	\$121,100	\$413,800	\$534,900	\$0	\$0	-				
2024 Payable 2025	Total	\$121,100	\$413,800	\$534,900	\$0	\$0	5,436.00				
	201	\$93,400	\$310,800	\$404,200	\$0	\$0	-				
2023 Payable 2024	Total	\$93,400	\$310,800	\$404,200	\$0	\$0	4,033.00				
	201	\$50,900	\$273,700	\$324,600	\$0	\$0	-				
2022 Payable 2023	Total	\$50,900	\$273,700	\$324,600	\$0	\$0	3,166.00				
	201	\$48,900	\$232,000	\$280,900	\$0	\$0	-				
2021 Payable 2022	Total	\$48,900	\$232,000	\$280,900	\$0	\$0	2,689.00				
Tax Detail History											
Total Tax &											
Tank	Special		Special	<b>*</b>	Taxable Building		Tetal Tayable MV				
Tax Year	Tax	Assessments	Assessments	Taxable Land M			Total Taxable MV				
2024	\$4,311.00	\$25.00	\$4,336.00	\$93,201	\$310,137		\$403,338				
2023	\$3,559.00	\$25.00	\$3,584.00	\$49,641	\$266,933 \$222,123		\$316,574				
2022	\$3,421.00	\$25.00	\$3,446.00	\$46,818	\$222,12	.5	\$268,941				





St. Louis County, Minnesota

Date of Report: 12/14/2025 12:23:35 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.